
Name:______________________________________________________________________  Mod:_____________   Order of Operations Practice 

a) 22 − (6 − 3) =      b)    5 + 18 ÷ 3 − 2 = 

 

 

 

 

c)   3 • 3 • 8 ÷ 4 =      d)    5 + 4 ÷ (3 − 1) = 

 

 

 

 

e)  6 • 3 − 5 • 2 =      f)   9 − 5 ÷ (8 − 3) • 2 =  

 

 

 

 

 

g)   5 + (8 • 5) + 72 ÷ 8      h)    (33 − 8) + 10 + 7 = 

 

 

 

 

 

 i)   −4𝑥2 − 6𝑥 + 11  when  𝑥 = −3    j)     3𝑥2 − 4𝑥  when  𝑥 = −2 

 

 

 

 

 

k)    5𝑥(𝑥 − 2)  when  𝑥 = 6 


